Then a cloud starts to

cover the stars. Leo counts
how many stars he can see
now. He counts six stars. Leo
wonders how many stars the
cloud has covered.
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Twelve stars - Six stars seen = Six stars covered

Leo counted twelve stars
before the cloud came. Now
he counts six.

12-6=6
Six stars must be covered by
the cloud.

Six stars covered + Six stars seen =  Twelve stars

Leo also knows that six plus

six equals twelve.
6+6=12
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Math Facts

12-6=06 Twelve minus six
equals six.

6+6=12 Six plus six equals
twelve.

12-7=5 Twelve minus seven
equals five.

O+ 7 =12 Five plus seven
equals twelve.

12-4=8 Twelve minus four
equals eight.

8+4=12 Eight plus four
equals twelve.

12-12=0 Twelve minus twelve
equals zero.
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Maze Fun

Help Leo find his way home!
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